






































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































Note: well-defined is the name for checking that S is indeed a function, i.e. "it passes the VLT"























































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































By assumption, S exits and can map w to something in R^n. Call this v.
























































































































































































































































































